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206 THZ4I 60,000 60,000 0
01 =4l 60,000 60,000 0
DMED] HEE fdeHE 2IAE 7Y 100,000%200S 20,000
DAD] HEE ¥8d S 5,310.6+2m *2692 x 145 H 40,000
401 Al EHIX S0 78,000 180,000 A102,000
01 AlZH 77,568 170,040 A92,472
NESsHEHIISSE T HEH M= 59,568,000 59,568
N3, 42 HEH 22s HE+ 18,000,000 18,000
03 AlZ=CHHI 432 1,080 648
NZSS0HEHI 2 SEXUY HEH UF 432,000 432
dHEM Il =1 EN 293,379 89,500 203,879
& 16,320
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201 Let=gl 1,980 0 1,980




SN BATAD
2 HIIS2NHE=
Sl A0 HEE 2F 22l 2 +=HAH EEED)
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
01 ArS2teld] 1,980 0 1,980
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NZBAL X AIZ 22| ALY 100,000, 000% 14! 100,000
NItEs dMatze| (M) 4,5003=+10,000 45,000
NEAE IR 17,234,000% 14 17,234
402 QI2HXHE0|® 80,000 0 80,000
01 CIZtREEX 80,000 0 80,000
NaASTLY2e XA 80,000, 000% 14! 80,000
HES3S At 2,764,087 1,415,674 1,348,413
= 94,750
s 1,100,000
& 201,354
i 1,367,983
Cteoll MHs2E 24 1,286,000 286,000 1,000,000
s 900,000
& 115,800
i 270,200




SN BADAD
& AMHZE 2= OtS02 & JH0|
9l 4B AL (chs]: =)
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
401 Al&HIZLS0HYI 1,286,000 286,000 1,000,000
s 900,000
= 115,800
= 270,200
01 A&l 1,281,370 283,941 997,429
NOEo eSS 1,281,370,000 1,281,370
s 896,760
= 115,383
= 269,227
03 Al&=0HYI 4,630 2,059 2,571
NOSo Mg =4 4,630,000 4,630
s 3,240
< 417
= 973
= E= PSS 400,000 600,000 200,000
s 200,000
= 60,000
i 140,000
401 Al&BIYL RG] 400,000 600,000 A200,000
s 200,000
& 60,000
i 140,000




A 223
& AMHZE 2= OtS02 & JH0|
cel: H3As Are (5] 2l
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
01 Al&HI 397,120 595,680 198,560
NSRS 397,120,000 397,120
) 198,560
& 59,568
= 138,992
03 AlZS0HdI 2,880 4,320 21,440
nagEsxy x4 2,880,000 2,880
s 1,440
= 432
= 1,008
MEIAHIA F2EE 179,930 116,674 63,256
= 94,750
& 25,5564
= 59,626
401 A& HIZLS0HYI 179,930 116,674 63,256
= 94,750
& 25,554
= 59,626
01 A&l 178,922 115,834 63,088
NI AAHI 14,421,000 14,421
= 10,095
L= 1,298
= 3,028
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3 ANE 2IS 0BOES & 30
cel: H3As Are (5] 2l
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
NIATSHAIY 22l 9,500,000 9,500
= 6,650
= 855
= 1,995
NEZIIAIA B2 139,001,000 139,001
= 69,501
< 20,850
= 48,650
NEAIE AEIEAI 249 16,000,000 16,000
= 8,000
< 2,400
= 5,600
03 Al&=0HYI 1,008 840 168
NEZIAIA Z2xE 1,008,000 1,008
= 504
& 151
= 353
S34 ZMols MEHSR =4 679,467 160,000 519,467
101 o121yl 34,467 0 34,467
10 JIH2ERS2S 34,467 0 34,467
nies 50,000%2H 200! 20,000
RIENE=S 5,000%2%E 200 2,000
nogsg 20,000,000%1/3 6,667
NFERSIY 50,000%2% 48 4,800




A 223
& AMHZE 2= OtS02 & JH0|
9l SR ALY (e49: =2)
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
DRSPS == =, 50,000+2E *10& 1,000
401 Al HIZ2OHYI 545,000 160,000 385,000
01 Al&HI 541,754 158,848 382,906
1) S EX 0 HI 150,000, 000% 14! 150,000
NESLUEHHSMEISATS 347,240,000% 14! 347,240
NEMEZE AL 44,514,000+ 14! 44,514
03 Al&=0HYI 3,246 1,152 2,094
NESUEHH=MEN SR Y 2,760,000 14! 2,760
NEMEZ LA 486,000 14 486
405 Tt SHI 100,000 0 100,000
01 AMRESFHEHI 100,000 0 100,000
NEMSIATHEEE LY EHLAMRAEIIZ 100,000,000% 14 100,000
2R 2= URL0H =4 45,000 80,000 235,000
401 Al&HIZLS0HYI 45,000 80,000 235,000
01 Al&HI 44,514 79,280 N34,766
NZRele LRIt =4 44,514,000% 14 44,514
03 AlZ=0HYI 486 720 N234
NZRele URI0t =4 486,000 14 486
Fa=Ld 173,690 0 173,690
401 A& HIZLS0HYI 173,690 0 173,690
01 Al&HI 171,994 0 171,994
NHOISAEZSE AHESR 19,820,000%4 7 &~ 79,280
N33 EXONLY 48,200,000% 14! 48,200
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ek
X XH -
(=

e

A 12
0v 0U QY
= =0y

oA

16,063

rainl;
Ag s B
o £l & 2
SA I BB - NRAY - B2 e 2
AEHI LS = 123,183
S 32,881
= 84,723
Al &H| 235,498 260,178
NIMSB X JI28AH(1HL) 26,820,000+ 14! 26,820
= 18,238
S 2,682
[ias 5,900
1Z M LBx2(15ha) 24,749,000+ 14! 24,749
= 14,864
S 2,966
i 6,919
1) MMEH 2 2t =2 (24ha) 18,876,000+ 14! 18,876
= 13,758
S 1,535
i 3,583
E8Z M+ T8 (10ha) 29,498,000+ 14! 29,498
= 20,595
= 2,670
i 6,233
12U =2 (15ha) 85,832,000+ 14! 85,832
32,288




SN BADAD
HH: M sA R
o9l TR (et &
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
i 37,481
NREEXIZ=E(10ha) 25,098,000%14] 25,098
= 19,520
& 1,673
= 3,905
NBIE3I|(5ha) 883,000% 14 883
= 687
& 59
= 137
1)oh et E &l (2ha) 23,742,000 14] 23,742
= 4,748
= 18,994
02 Zeltl 3,180 6,188 3,008
NZEMSB X JI28H 2Zeldl(19HL) 3,180,000%14] 3,180
= 2,190
& 190
= 800
03 AIEZ=20Hdl 2,109 3,229 21,120
NE M2 LetE 2 (15na) 270,000% 14 270
= 162
= 32
= 76
1) EH 2 2t 2l (24ha) 206,000% 14 206
= 150




2A: BE33
S MNEXRSH 22
o9l TR (et &
SA-HH . O (SH) - MEAY - B O &b o4 o HIDS2
o= 17
g 39
1) 8 MLE=ZX8(10ha) 322,000% 14! 322
= 225
= 30
iy 67
1)2UR X2 (15ha) 780,000% 14! 780
= 293
= 146
iy 341
1SS EXXE(10ha) 273,000% 14 273
= 213
= 18
iy 42
1) ol CHEF =21 (2ha) 258,000% 14 258
= 52
iy 206
= RI|ALS 1,853,692 1,834,069 19,623
= 1,034,207
= 232,841
o 586,644
USR] 1,245,862 1,236,056 9,806
= 677,194




2N SABAL
B3 MK

SRl =IHRIIANY (S d &
S B S9(S0) - MRAEY - BaS Of o o HIDS

SLROH| ES 162,637
= 406,031

201 Let=gl 5,459 5,180 279
= 610
= 171
o 4,678

02 =29l 5,459 5,180 279
NasteE |AEI(1H) 5,459,000% 141 5,459
= 610
= 171
[Ea 4,678

401 AlIZ2HIX 200 1,240,403 1,182,876 57,527
= 676,584
& 162,466
= 401,353

01 Al&HI 1,197,717 1,130,237 67,480
NaSHHIEE 26,390,000% 14 26,390
= 2,210
& 619
s 23,561
1)= IR0 £ A8 (260ha) 19,308,000+ 14 19,308
= 10,726
= 2,574




SN BADAD
HH: MRS
SR FIHRIIALY (et &)
S B S9(S0) - MRAEY - BaS Of o o HIDS
o 6,008
1)2URIt3I1(760ha) 921,110,000% 14! 921,110
= 511,677
T 122,783
o 286,650
1) 28 X9+ 71 (570ha) 230,909,000% 14 230,909
= 128,283
= 30,788
o 71,838
02 Zclbl 34,829 32,766 2,063
1)2LSIt37I] 22ldi(760ha) 34,829,000% 14 34,829
= 19,347
= 4,643
o 10,839
03 AlZ=CHHI 7,857 19,873 A12,016
12U+ I1(710ha) 6,183,000% 141 6,183
= 3,411
= 836
[Ea 1,936
1) Z 8 XI9+3 71 (570ha) 1,674,000% 141 1,674
= 930
= 223
o 521
=)MRIINGY AEASTHRALE 19,048 25,200 A6, 152




2A: BE33
S MNEXRSH 22
£r9l: ZIPPII AR (Sl 2
SA-HH . O (SH) - MEAY - B O &b o4 o HIDS2
= RIIXNGL AMRASTHRAXTYS == 1,906
o 17,142
401 AlEHILL20HH] 19,048 25,200 N6, 152
= 1,906
o 17,142
01 Al&H] 18,843 24,928 6,085
1= RIKNE U AHAS TR ZEA (40ha) 18,843,000% 14! 18,843
& 1,885
iy 16,958
03 Al&=S2C0HYI 205 272 NB7
1)EIRIKNE L A AS TR ZEZA (40ha) 205,000% 14! 205
= 21
iy 184
22 MEIFRD| 149, 151 572,813 N423,662
= 88,195
= 17,055
o 43,901
201 LEE2HH| 11,445 59,666 N48,221
= 6,867
== 1,312
o 3,266
01 AR22ld| 11,445 48,043 N36,598




2N SABAL
B3 MK

£r9l: ZIPPII AR (Sl 2
SA-HH . O (SH) - MEAY - B O &b o4 o HIDS2

1)S246E IR A A 4,790,000% 14 4,790
= 2,874
o= 545
iy 1,371
1)224AID1RD| J|1s0l O/=2h| 4,475,000% 14! 4,475
= 2,685
= 505
iy 1,285
1) 2242001 RD| A EH| S| 2,180,000% 14! 2,180
= 1,308
= 262
iy 610

301 LEt8AZ 14,604 22,303 AT7,699
= 8,762
& 1,359
o 4,483

10 ALAHIBAZ 14,604 22,303 AT,699
12 24AIDIRD| J|s0l WEEH| 2,160,000% 14! 2,160
= 2,160
1A TR A DK EEH| 3,240,000% 14! 3,240
= 3,240
1)22401RD| J|ls2l KU 2,242 ,000% 14! 2,242
= 1,345




S ST
HH: MRS
Rt ZOHRIIALY (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
= 269
i 628
DA XA ZTAIS WS 3,362,000+ 14 3,362
= 2,017
= 370
s 975
NAZTASIXAE ) sNs 3,600,000% 14 3,600
= 720
= 2,880
401 Al&HIL S O0HYI 123,102 490,844 N367,742
= 72,566
= 14,384
= 36,152
01 Al&HI 121,792 483,095 A361,303
NE3a IR 77,836,000% 14! 77,836
= 46,702
L= 8,819
i 22,315
1) &H XF 2 = ALE 43,956,000% 14! 43,956
= 25,078
o= 5,408
i 13,470
03 AR 1,310 7,749 26,439
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e
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439,631

53,587

42,870

10,717

LH3r
Lld
RIS

Off &4

157
367

786
439,631

H

i

268,818

51,243
119,570

WH

rH

53,587
32,152

6,430
15,005
42,870

fir

iy

H

21,970
13,182
2,636
6,152
20,900
12,540
2,508
5,852
10,717
10,717

fir

iy

H

fir

iy

H

B

- SR1(31H) - MRAY

« X ZH
e

2 A

T

1,310,000*1

k

HHOI <2 0H

k

&0
R
oJ

oll

201

el

b

7
O-

A

01

21,970,000+ 14!

20,900,000+ 14!

30
O
[0
Mo

10,717,000+ 14!

1)




ek
X XH -
(=

e

SH - H . BR(BH) - HRAY - BES e

= 6,430

= 1,286

= 3,001

301 LetEasg 25,676
= 20,446

L= 1,569

= 3,661

10 AIAHIE A= 25,676
DNAEHIUA ME+EEE IS NSERY| 12,600, 000% 14! 12,600
= 12,600

NAEBIUA M2+EEE IS BNIHYI 13,076
= 7,846

& 1,569

i 3,661

401 A& HIZLS0HYI 346,368
= 207,820

= 41,564

= 96,984

01 Al&HI 343,203
AU A METEE 343,203,000%1 343,203
= 205,921

L= 41,184

i 96,098




A 233
HH: MRS
el =IHIIANY (&&=
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
03 Al&=0HYI 3,165 0 3,165
NAEB0IQMA dEaE FEXNE 3,165,000 14 3,165
= 1,899
T 380
= 886
405 XHoHESHI 14,000 0 14,000
2 8,400
= 1,680
2 3,920
01 XUSEHSH] 14,000 0 14,000
DASHOIQHA ASLTEE BYI2Y 14,000,000% 14} 14,000
= 8,400
T 1,680
i 3,920
AFAREH & AREIAHOH Ol 116,840 117,886 21,046
AP AL 116,840 117,886 21,046
308 ANXIHHSOIA 116,840 117,886 A1,046
05 AXEHAHRES 116,840 117,886 21,046
TYAREEE (10 A) 38,243,000+ 14] 38,243
1)oieret & (2ha) 30,000, 000% 14 30,000
1o eH& AKX =22 (1km) 48,597,000% 14 48,597
MEICIZEAY 1,030 18,000 A 16,970
2 1,030




DA BPTAD

HH: AT SR
Sel: AT B A (crel M)
S B S9(S0) - MRAEY - BaS Of o o HIDS
GISAIAE) 2E&H] 1,030 18,000 A16,970
= 1,030
405 AhoHFSHI 1,030 18,000 16,970
= 1,030
01 N ESSHSH 1,030 18,000 A 16,970
1SHESSH L EHI 1,030,000% 14 1,030
= 1,030
Jl=8stiis 108,511 0 108,511
Jl=8stiis 68,017 0 68,017
Jl=8st s 68,017 0 68,017
201 Let=gl 8,876 0 8,876
01 AtR2t2lH] 8,876 0 8,876
NIIE2HINRESLARERY 100,000% 123 1,200
NEZEHEHTY 300,000%5%] 1,500
N=ASR 7Y 18,700+80F A 1,49
DEEEE! 7,000%x28 * 120! 1,680
NJI=dsiissadsts 2=l 20,000% 1505 3,000
202 O4H] 6,141 0 6,141
01 WAL 6,141 0 6,141
Dol =HAS2LIHE 75,800%x2E x27 4,094
NJ|=ds 2 st = M0ILIE A 75,800+3& 9 2,047
307 @z2told 50,000 0 50,000
02 QtFHEx 50,000 0 50,000
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